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9.

Instructions for the Candidates

Write your roll number in the space provided on
the top of this page.

Answers to short answer/essay type questions are
to be given in the space provided below each question
or after the questions in the Test Booklet itself.

No Additional Sheets are to be used.

At the commencement of examination, the question
booklet will be given to you. In the first 5 minutes,
you are requested to open the booklet and
compulsorily examine it as below :

(i) To have access to the Test Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not
accept an open booklet.

(ii) Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not
in serial order or any other discrepancy should
be got replaced immediately by a correct booklet
from the invigilator within the period of 5
minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will
be given.

Read instructions given inside carefully.

One page is attached for Rough Work at the end of
the booklet before the Evaluation Sheet.

If you write your name or put any mark on any part
of the Answer Sheet, except for the space allotted for
the relevant entries, which may disclose your
identity, you will render yourself liable to
disqualification.

You have to return the Test booklet to the
invigilators at the end of the examination
compulsorily and must not carry it with you outside
the Examination Hall.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc. is prohibited.

10. There is NO negative marking.
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This paper is of two hundred (200) marks containing four (4) sections.
Candidates are required to attempt the questions contained in these sections
according to the detailed instructions given therein.
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SECTION - 1
Qug -1

Note : Answer the five questions from the para given below. Each answer
should not exceed 30 words. Each question carries five marks.

(5x5=25 marks)
e : = e T3 s % SR W el T uie Wt o SR ford | Tk S (30)
Y1} ek BT 6T | Weish U9 Wi Siehl 1 & |
(5x5=25 3ieh)

“The rise and fall in the profits of the stock depend upon the same causes with
the rise and fall in the wages of labour, the increasing or declining state of wealth of the
society; but those causes affect the one and the other differently.

The increase in stock, which raises wages, tends to lower profit. When the stocks
of many rich merchants are turned into the same trade, their mutual competition
naturally tends to lower its profits; and when there is a like increase of stock in all
different trades carried on in the same society, the same competition must produce the
same effect in them all”.

“ gt e TR T Rl IS A1 FIRAT 3= ol W R 6 © o1 R 99 ot 7eigd
I A1 feAl, 3R 9 § TS ot TEeT i T § sl a1 e 1 a7 SR 37 fue w9
{ gufad & € |

Wik a5 9 W&l Ioigd H I el 7, @ o B R St § | STel 21k o+t st
& Wik Tk & A9 H o fed 9 €, a9 3 oad § wfaedet 9 fwta: oy § i ot
g &t & TR 5o 36 yehR Geft fafvre sremmi | o Al @i o gfg &t S €, q@ st
gfaeaut gr1 st g Tt saEEt | et B, !

1.  Identify the factor that affects the wages and profits in the light of above statement.

YU 2 o GRR H SH e i qfea hitord S HSIGY a1 AT 1 Juiferd e § |
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2. Why do same causes affect the profits and wages differently ?
TS UM HIh, HSIGH AT AT 1 T3 YhR § A JHIfad i © 7

3.  Name the factor that lowers profits and how ?

I HIeh ] TS S ATl I HH HT § SR | ?

J—0106 4



4. Does persistent decline in profits necessarily lead a capitalist economy towards a
stationary state ?

I el § Tl HHt e T 9 Uk YSiandt sreferraer i, ¥ staen ot iR T S ?

5. Is on set of stationary state avoidable ?

1 TTeR STeree § o= S Hehell § 2

J—0106 5 P.T.O.



SECTION - II
Qug —1I1

Note : The part has fifteen (15) definitional questions of (5) marks each to be
answered in upto (30) words.

(5x15=75 marks)

e TH @S Y Ugg IR (15) T &1 Y 99 & Ui (5) 3ih ¥ 1 T
IW (30) T=al | ST

(5x15=75 3i<h)

6. State Keynerian Psychological fundamental law of consumption.

IS o AR TR U fogT= o1 aared |
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7.  What are giffen goods ?
frrfee aeqq o €2

8.  Define a merit goods.

Ttz g ot o S

J—0106 7 P.T.O.



9. What is investment functions ?

T wer ® 82

10. Define Bernouli’s hypothesis about the behaviour of a risk averter.

Qﬂv‘?ﬁf@qm(riskaverter)%wa?ﬁWﬁaﬁFﬁWﬁqﬁwaﬁﬁal

J—0106 8



11. What is ISO-revenue curve ?

TH-3ANTH 5k 1 & ?

12. How do you test for significance of B; in simple regression equation Y;=B,+ B, x;+u; ?

Teh T WATHTHA FHIHT Y, =B,y + By x,+u, § B, i AAYUi1 i S v Tohr il |

J—0106 9 P.T.O.



13. Identify labour augmenting and labour displacing element in Green Revolution.

B shifd § g0 Gaeres qen 99 fawemder dai ol fafea sifsd |

14. What is Baromatric Price Leadership ?

SRAfEeR T gl o1 82
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15. What is difference between narrow money and broad money ?

Hentvl waH foqd 2o o 1 TR B ?

16. What are Optimums Currency Areas ?

TAH HHT & T € ?
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17. Define demographic transition.

SHYTEIeh I ThH0T ohl qfenfid sifs |

18. What is input-output analysis ?

3mTd i fergeroor oo &2

J—0106
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19. Define Accelerator.

TR ht TR <1 |

20. What is Endogenous growth ?
st farehm = © 2

J—0106 13 P.T.O.



SECTION - III
Lug —II1

Note : The part has five short-essay type questions of (12) marks each to be
answered in upto (200) words. The candidate may select one elective
and answer all five (5) questions.
(12x5=60 marks)

e : @ H e (5) oY ferurms 79 1 930 I % (12) 3% 81 TAw
T o1 TR ST < 9 v | et | qdemedt fhdt s weifaea ® & uiw
Tl T S |
(12x5=60 37dh)

Elective - I

faerea —1

21. In a simple regression of Y=a+pBX+3.
A sample of 20 observations gave the following data :

YY =20 Y (Y-Y)? =90 >(X=X)(Y=Y)=100

>X=190 >(X-X)=20

Estimate o and B and calculate estimates of variance of these estimates.

Y =q+BX+3 % T G G H, 20 Y&l & Uk =Ae¥ | A HHe T gu
YY =20 Y (Y-Y)? =90 >(X=X)(Y-Y)=100

>X=190 >(X=X)=20

o AT B Sl TUMT SHITSTA AT 39 OIS o FET i TR |

22. Given the Cobb-Douglas Production function Y = [31L52 KPs
Where Y =output, L=1abour input and K=capital input. Dividing (1) through by K,
we get (Y/K)=By(L/K)P2KkP2FPs-1 2)
Taking the natural log of (2). We obtain In(Y/K)=8q+B, n(L/K)+ (B, +B3—1)InK
where By =B ... 3)
(a) How would you test the hypothesis that there are constant returns to scale, i.e.,
(B, +PB3 =1) from equation (3) ?

(b)  If there are constant returns to scale, how would you interpret regression (3) ?
(c)  Does it make any difference whether we divide (1) by L rather than by K ?

J—0106 14



T e ST 3ATeA e fodr T §

Y =p,LP2kBs (1)

Safeh Y =3A1GH, L= 99 3Fd, K="qsi1 I 39 FHRT (1) bl K | faaiisd e ®
e iR I S §

(Y/K)=B,(L/K)2 K= Hbt @)

THIHT (2) T FThideh M o R e FHenor yre & ©

In(Y/K)=B, +PB, In(L/K)+(B, +B, —1)InK

S By =InB; ... 3)

(a) 3T TH Hohodl ki FoFe YR Tlen el fof 2=l oM & feor ufawat € ie.,
(By +B3 =1) THIFT (3) F?

(b) afe 7 Yo o feer et & A1 @19 THieT (3) 1 foh WehR SATE il 2

(c) ACTH (1) ® K o6 L ¥ fawfsa =%, a1 1 399 $o ia gem ?

23. In the following macro-model

Ci=a+BY, +u,

Y, =C,+7Z,

Where C= aggregate consumption expenditure
Y= national income
Z= non-consumption expenditure
u= a stockastic disturbance term

The following assumptions are made :

1) u~N (0, o2

(2) Z and u are independent

Why do we need two stage least squares (2 SLS) method to estimate 3 ? Describe the
method of 2 SLS.

=1 wafy "red
Ci=a+BY +u,
Y,=C,+Z,
H9E C= Tou S =
Y= T ™
Z= TR3udm ==
u= T& J9A= faed <o
=1 A= T T €
1) u~N (0, 2
2) Z Ry §
TH -T{F =IAqH S (2 SLS) TS T o UM R o o o oRedd diet § 2 2 SLS U
1 HHAA |
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24. The following models were estimated using the annual data for 1949 - 1964 :

Model A : Y, =0.4529-0.0041t
(3.9608)

R% =0.5284,d =0.8252

Model B: Y, =0.4786-0.0127t +0.0005t
(3.2724) (2.7777)

R% =0.6629,d =1.82

Where the figures in the parenthesis are t ratios.
(@) Is there auto-correlation in Model A ? In Model B ?
(b) What accounts for the auto-correlation ?

() How would you distinguished between “Pure” auto-correlation and specification
bias ?

1949 - 1964 < dftier HHehi ol STANT & 79 TSl ! TUMT hi TE :

HISA At ¥, =0.4529-0.0041t
(3.9608)

RZ =0.5284,d =0.8252

A B: ¢, =0.4786-0.0127t +0.0005t2
(3.2724) (2.7777)

R% =0.6629,d =1.82
Sfelfer hitgenl | &f T8 HEAY t 79[ §
(a) TFNUEA A H WEEY §?
e B | WY 77
(b) TS T T HROT 2
() Tavs wawsiy qen fafade sifamfa # st forg R 9 & €2

25. What is integrated series ? Explain one test to check the integration series.

THTH{eId QIRON &1 8 2 ARl | & 9de707 & ford fondt Weh 3% &l =amen shifsid |
OR / 31qan

Elective - II
feeRea —11
21. Does Kinked demand function provide a theory of price determination under
oligopoly ? Explain
1 forshfard i e, TR o Twaia Yoo Femo o6 fagia weqa sl § 7 T St |

22. Explain the major assumptions underlying neo-classical growth model. Comment on
their validity.

TSl foera ared @t fafed @ Arrded St e HifSr | SHw! SEaT W STIE T
T SIS |
J—0106 16



23.

24.

25.

21.

22.

In the IS-LM framework, show the crowding-out of private expenditure as government
expenditure is increased.

IS-LM Eﬁ & =rd, Fot =99 & TeTehig =99 | SHEe (crowding-out) I THEE |

Given U (x,y)=xy, p,=1, py=4 and income m=40 for a consumer, derive indirect
utility function for this consumer.

Toh ST 6 T fe gen € ¢ U (vy)=xy, p,=1, p, =4 T 3T m =40 TH ST FI
Y& IYANTAT Tl bl UM hiford |

What is expenditure multiplier ? How does it change as tax rate is increased ?
= Uk 91 2 RS H g B W I8 e R afafida g 82

OR / 1@

Elective - III

fasmrea—1II1

Discuss the major factors responssible for the final collapse of the Brelton woods system,
in 1973. Examine the efforts made by the world community to evolve a workable
monetary system from the point of view of developing countries, thereafter.

1973 H, s 8 Haedl o 3ifdH ®U § Lo 8 % FRON 1 forer=m1 ifs | 3Hk ge=rd
forE=TE T & gfe H0 9, TH HH-TATS, Hifaeh e fawiad w0 § fava 9qe™ gu
foral T gl Rt wEtan e |

What are the major commitments made between the developed and developing
countries under WTO with respect to agriculture and textile sectors ? Are their
commitments being fulfilled by the advanced countries ?

FHiY q1 T & & Hey W, fove SR HeA & =i, faeskfad qen fasemRe I %
o T gEHESAre (commitment) 31 foeRfad T gr1 QU foRan s @I 2

J—0106 17 P.T.O.



23.

24.

25.

21.

22.

23.

Explain fully the concept of globalization. Discuss its benefits and “discontents” from
the point of view of developing countries.

JHSTSRI ! HRON ohl JUIeU] THETS | faehmai~@ T2l o SfEhIv | 38k oY qei STHdrsi
i fereram ifsm |

Examine the determination of exchange rates under fixed and fluctuating exchange
rate systems. Which system do you prefer in the context of a developing country. Give
reasons in support of your answer.

oo qen s1feer fafoa ST asfaal < st=ia, fafaa 2 freio =t weian K | e fore=gE
Tz & G H 279 T It ol 96 3l | 379 W T wROT died g Hifs |

Distinguish between Euro-dollar and Euro-currency market. Explain whether “Euro”
and Euro-currency are different. Discuss the major factors responsible for the emergence
and growth of the Euro-currency market.

‘o STeR’ qe ‘T HT H TR hITST/IaTgd, R I3 a9 A hit T € 2 0 h SR
% 329 1 faehrd & fordl STerl 9@ Sehl ot foer=m wifsd |

OR / 1%t

Elective - IV
fasmca—1v

Highlight the main trends in the production and productivity of major food crops in
Indian agriculture during the last decade.

IRd # fsdt <o § UE e el o ScaTed 3R SRl Scaeehdl | HE Ygiadl W YR
oferd |

Comment on the objectives and performance of public distribution system in India.

UG H HTESIeh fIaior Jomelt o vl a2 e i ST S st |

What are the main marketing problems of surplus generating farmers in India ? What
steps should be taken to improve the system of agricultural marketing ?

IRA | ek 3US ScUTeeh Fuehi ht foquF FoE 1= € 2 Fi fauur wewen § gur & fad
FI1 FHEH I3F A A1l ?

J—0106 18



24.

25.

21.

22.

23.

24.

25.

Analyse the impact of WTO on the diversification of Indian agriculture.

AR i o fafaferor W foava SR Gied & 99§ &1 favers o sifsd |

Do you agree with the view that technological changes in agriculture have aggravated
regional inequalities ? Substantiate your answer.

FI1 AT 39 Aq F TeHd § T $iu § Urenfienig ufted=i 7 af sraararsti 1 o fean 22
319 IW i gfte Fifsr |

OR / 31an

Elective - V
faswca—-v

What is the role of planning in the context of liberalisation ?

IR o HeH H FrSH i fHer sl 9=msd |

What is the methodology followed by the commission on agriculture costs and prices
for determining minimum support prices ?

IAqH R i ol (HRa & 1, S Ara e Jod TR g1 foRd TR ggfa 1 eTgurer
feran ST ®2

What are the important recommendations of Financial Sector Reforms committee ?

fafaa &= gum gfafa =t vg@ fawiel sad |

What is the relationship between infrastructure and economic development in India ?

AYETEAT a1 7ffen foehrd & e o el & 2

What are the major changes in Fiscal Policy of India in recent times ?

A T H ARG Ht Trhre A | a1 gore giede gu € ?

J—0106 19 P.T.O.



J—0106

20



J—0106 21 P.T.O.



J—0106

22



J—0106 23 P.T.O.



J—0106

24



J—0106 25 P.T.O.



J—0106

26



J—0106 27 P.T.O.



J—0106

28



J—0106 29 P.T.O.



SECTION - IV
g ug—-1V

Note : This part has one question of (40) marks to be answered in upto 1000

26.

words.
(40x1=40 marks)

T W T THh Y =g (40) 37! ol g1 FSTHHh1 ST AT Teh &R
(1000) vr=gi H§ ST
(40x1=40 3h)

In time-series analysis, what is the meaning of ‘stationarity” ? In this context, discuss
‘“unit root test’. Explain the concept of causality.

Y ol fergeryor #, ** feerar”? (stationarity) Y I €2 39 Hed | ‘qﬁz%—e%@’w
forerem it | gam (causality) sl RO I T |
OR / 3Agar

Use Neumann Morgenstern utility index to distinguish between the behaviour of a risk
averter and risk lover.

‘Siifigm 2reten’ qer ‘Sifem Yt o SRR H S it o ford A A=A SHIfTar gerehich
1 TN i |
OR / 31eaT

Define the spot exchange rate and forward exchange rate. Discuss Interest Rate Parity
Theorem (IRPT). What factors might lead to persistent deviations from parity between
countries currencies ?

BIfeR faf e <2 qen aer faftaa <t = uftenfog Sifse | st <8 99ar T9e &) 99emsd <9 &
HIEE o e oA ¥ AR GRed T heh! R 81 Hehdl &2

OR / e
Discuss the impact of economic reforms on the Indian agriculture.
ARATT HfH |, A1k GUR & J91E St foer=m s |

OR / AT

Discuss the importance of social sector and examine the impact of changes in social
sector on poverty alleviation in India.

THIfSIeh &5 o Hecd okl faaed hifsd 99 YRd # Tl A hd § TS &3 § gied-l &
JUTE hT YUETOT Shifsd |

J—0106 30
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